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Index: 0, Unicode:

Nodes: 2466, Contours: 54
BBox: (0, 0) - (2396, 2700)
LSB: 0, RSB: 44, Width: 2440
Ish: 811, rsb: 871, width: 758
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Index: 2, Unicode: F043
Nodes: 2400, Contours: 66
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 797, rsb: 847, width: 796
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Index: 4, Unicode: F045
Nodes: 1660, Contours: 12
BBox: (0, 0) - (2384, 2700)
LSB: 0, RSB: 56, Width: 2440
Ish: 778, rsb: 936, width: 726

G

Index: 6, Unicode: FO47
Nodes: 1086, Contours: 6
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 369, rsbh: 417, width: 1654
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Index: 8, Unicode: FO49
Nodes: 6532, Contours: 308
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 848, rsbh: 892, width: 700
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Index: 10, Unicode: FO4B
Nodes: 3906, Contours: 182
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 1061, rsb: 1101, width: 278
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Index: 12, Unicode: FO4D
Nodes: 358, Contours: 4
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 674, rsb: 715, width: 1051
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Index: 14, Unicode: FO4F
Nodes: 444, Contours: 8
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 597, rsb: 634, width: 1209

Index: 16, Unicode: FO51
Nodes: 1748, Contours: 32
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 40, Width: 2440
Ish: 1009, rsb: 1032, width: 399
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Index: 18, Unicode: FO53
Nodes: 644, Contours: 26
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 906, rsbh: 947, width: 587

U

Index: 20, Unicode: FO55
Nodes: 378, Contours: 10
BBox: (0, 0) - (2392, 2690)
LSB: 0, RSB: 48, Width: 2440
Ish: 1006, rsb: 1055, width: 379
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Index: 22, Unicode: FO57
Nodes: 4108, Contours: 72
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 521, rsb: 559, width: 1360
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Index: 24, Unicode: FO59
Nodes: 3194, Contours: 102
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Ish: 520, rsb: 400, width: 1520
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Index: 1, Unicode: F042
Nodes: 1666, Contours: 22
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 898, rsh: 914, width: 628
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Index: 3, Unicode: FO44
Nodes: 1016, Contours: 38
BBox: (0, 0) - (2400, 2600)
LSB: 0, RSB: 40, Width: 2440
Ish: 1179, rsh: 1240, width: 21

F

Index: 5, Unicode: F046
Nodes: 3118, Contours: 190
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 40, Width: 2440
Isb: 864, rsh: 866, width: 710
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Index: 7, Unicode: F048
Nodes: 1198, Contours: 18
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 870, rsh: 911, width: 659
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Index: 9, Unicode: FO4A
Nodes: 1836, Contours: 24
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 32, Width: 2432
Ish: 694, rsh: 734, width: 1004
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Index: 11, Unicode: FO4C
Nodes: 1162, Contours: 34
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 953, rsh: 1001, width: 486
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Index: 13, Unicode: FO4E
Nodes: 1360, Contours: 2
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 17, rsb: 57, width: 2366
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Index: 15, Unicode: FO50
Nodes: 756, Contours: 14
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 8, rsh: 48, width: 2384
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Index: 17, Unicode: FO52
Nodes: 1106, Contours: 6
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 386, rsh: 392, width: 1662

T
Index: 19, Unicode: FO54
Nodes: 996, Contours: 22
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 40, Width: 2440
Ish: 804, rsb: 844, width: 792
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Index: 21, Unicode: FO56
Nodes: 3370, Contours: 178
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 40, Width: 2440
Isb: 966, rsh: 1016, width: 458
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Index: 23, Unicode: FO58
Nodes: 3550, Contours: 144
BBox: (0, 0) - (2400, 2700)
LSB: 0, RSB: 40, Width: 2440
Ish: 782, rsh: 811, width: 847
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Index: 25, Unicode: FO5A
Nodes: 3642, Contours: 82
BBox: (0, 0) - (2400, 2690)
LSB: 0, RSB: 40, Width: 2440
Isb: 585, rsh: 622, width: 1233



